150x50 Timber
Top Rail. 100x50 Timber Side Rail.
j‘ /NG” at each post using
4-3.75mmox100 Nails.

—~——100x100 Timber Posts
at 1.2m centres max.

ALSO REFER TO DRAWINGS
2008/0419, 2008,/0420
AND 2008/0422.

1000
150 |

1 B-——75x50 Timber Bottom

L T [ K Rail. 2—3.75mm®x100
:{: \Noils per Post.
M12 Bolts with

50x50x3 Washers
For Joists sizes see under Head and Nut.

"Joist Span Table”.

A BALUSTRADE DETAIL
Blocking over each
/V Bearer at Joist Joints.

25

50

H=—— M12 Bolts plus

| 3 50x50x3 Washers
Where required, each end.
Diagonal Brace o /

plus M16 Bolt Check Bearers
5 _|
I

25mm into Piles.

25
DETAIL 1 o Blocking.
BEARER /PILE DETAIL DOL ey fr / Handrail Post.
A A
o
< —~——100x40 Plank Decking.
- [ B
=———2-3.15mmex75 Nails
= 4 at each Joist/Plank
M12 Coach Screws | piiss CH Intersection.
with 500x3 Woshers Post o] d \Joist nailed to Bearers
when adjacent to /7behind. ) WAt i to NZS3604
Handrail Posts. A Bearers. 0 '
Blocking to &
NZSB604jN | ‘ PART PLAN
\ TF BELOW DECKING
Blocking nalled h
to NZS3604.
100mm penetration
=T
SECTION A = A
> - — <
PREPARED BY OPUS: AUCKLAND CITY SCALE NTS
Transport DRAWN : MKG
ISSUE DATE 11/2008
BOARDWALK APPROVED :
AaaAtD SECTIONS AND DETAILS ZP(L)A(N) §70421'SSUE B
J\_ J\_




